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a7 Y — bk 18-5-40 SRR E R E LY m’ 61.9
TR F Wi+ | 75. 6+70. 7 m? 146.3
H bt V& t=10mm 61.9/10 m? 6.2
235 L AR R R E LY Hm® 75.6
K Z 34 7 |VP ¢ 65mm 61.9%1/3 m 20. 6
W H U BE 1B R4 |300%300%30 70. 7%1/3%0. 30%0. 30 m’ 2.1




¥oB OB mE

i

J— 2L — ) TR (5i) BT
) g | o | % & | miEEs | E B B owmEsE | R | % & | Wi | R % | % &
0 0. 00 0.00 0.00 0.00
2800 1.65 0. 825 0.70 3.13 1. 565 .33 3.02 1.510 1.28 3.13 1. 565 1.33
0. 7m3 . 3m2 1. 3m2 1. 3Hm2
T o® W om =
S po a7 J—h AP (Rirm) AP (51m) i NN
) g | o ¥ | % & | wimEs | E B B owms | oF om | % & | Wi | F % | % &
0 0. 00 0.00 0. 00 0. 00
2800 2.04 1. 020 0.87 3.13 1. 565 .33 2.92 1. 460 1. 24 3.13 1. 565 1.33
0. 9m3 . 3m2 1.2m2 1. 3% m2




L 3EE#E ST ¥ W owm i E &
g ply i > — pinl] =1 JE =] =)
- = ;E I}E E%ES% ar7Y—h AR (ATt A (1) YT
A m Wrmdg | F ¥ | %% & | Wmfd | F W Kk & WER | ¢ %W | &K & WrmE | YW K =
NO. 1 + 10.70| 0.000 | 3100 3.30 3. 47 3.16 3. 47
NO. 2 + 0.00 9.810 | 4597 5.93 4,615 45, 27 5. 14 4, 305 42,23 4,69 3. 925 38. 50 5. 14 4. 305 42. 23
NO. 2 + 0.11 0.120 | 4615 5.96 5. 945 0.71 5.16 5. 150 0. 62 4.71 4,700 0. 56 5.16 5.150 0. 62
NO. 2 + 3.00 3.050 | 5657 8.19 7.075 21. 58 6. 32 5. 740 17.51 5.77 5. 240 15. 98 6. 32 5. 740 17.51
NO. 2 + 3.61 0.650 | 5878 8.71 8. 450 5. 49 6. 57 6. 445 4,19 6. 00 5. 885 3.83 6. 57 6. 445 4.19
NO. 2 + 6.55 3. 370 0 0.00 4. 355 14. 68 0.00 3. 285 11.07 0.00 3. 000 10. 11 0. 00 3. 285 11.07
&t 17. Om 87. Tm3 75. 6m2 69. Om2 75. 6Hm2
T 6 HBERE T ¥ W om O E E
e > — Bisl} Bt Bisl] Ak 5|
- u E;;E EEE E%J?:;% a7 —h P (Fifm) e (i) %L
A i WrmAd | F ¥ | %% & | WmfE | B W &k & WEE | ¢ B | &K & brmE | F W K &
NO. 1 + 10.70| 0.000 | 3100 2.36 3. 47 3. 24 3. 47
NO. 2 + 0.00 9.810 | 4597 4,18 3. 270 32. 08 5. 14 4. 305 42,23 4, 80 4,020 39. 44 5. 14 4. 305 42. 23
NO. 2 + 0.11 0.120 | 4615 4,21 4.195 0.50 5.16 5. 150 0. 62 4. 82 4. 810 0.58 5.16 5.150 0. 62
NO. 2 + 3.00 3.050 | 5657 5. 74 4,975 15. 17 6. 32 5. 740 17.51 5.91 5. 365 16. 36 6. 32 5. 740 17.51
NO. 2 + 3.61 0.650 | 5878 6.10 5. 920 3.85 6. 57 6. 445 4.19 6. 14 6. 025 3.92 6. 57 6. 445 4.19
NO. 2 + 6.55 3. 370 0 0. 00 3. 050 10. 28 0. 00 3. 285 11.07 0.00 3. 070 10. 35 0. 00 3. 285 11.07
&t 17. Om 61. 9m3 75. 6m2 70. Tm2 75. 6m2
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1 B 2 [1.0m¥%4 D]

k=1

1=45

0% B o A% =
300%300%10 °z°
i
KikE 4T
 — VP @ 65mm
B2
HH FIAE HAL INGT
[H=2.80m]  H=|2.800 m 2. 800
B1=|0. 45 m 0. 450
B2=|0. 45+ (0. 5-0. 4) %2. 800 m 0.730
27 Y — bk |1/2%(0. 450+0. 730) *2. 800 m’ 1. 65
UM (RiE) (2. 800%y (172+0.5°2) m” 3.13
TP (i) (2. 800%y (172+0.472) n’ 3.02
25T 2.800%y (172+0.5°2) Hm2 3.13
[H=3.60m]  H=|3.60 m 3.600
B1=|0. 45 m 0. 450
B2=10. 45+ (0. 5-0. 4) *3. 600 m 0.810
27 Y — K |1/2%(0. 450+0. 810) *3. 600 m’ 2.27
UM (RiE) |3.600%y (172+0.5°2) m” 4. 02
AU (5H) |3.600%y (172+0.472) m’ 3.88
2L 3.600%/ (172+0.5°2) Hm2 4. 02




39 (I B 2 [1.0m%4 9]
ﬁ
0 5 ot

300%300%10 g

4

KA T B

VP ¢ 65mm
HH FIAE HAL INGT

[H=3.10m]  H=|3.100 m 3.100
B1=/0. 6 m 0. 600
B2=|0. 6+ (0. 5-0. 2) *3. 100 m 1. 530
27 J— K 1/2%(0. 60+1. 53) *3. 100 n’ 3.30
UM (RiiE) |3, 100%y (172+0.5°2) m” 3.47
P (i) |3.100%y (172+0.272) n’ 3.16
25T 3.100%y (172+0.5°2) Hm2 3. 47
[H=4.597m]  H=|4.597 m 4. 597
B1=/0. 6 m 0. 600
B2=|0. 6+ (0. 5-0. 2) *4. 597 m 1. 979
27 J— bk |1/2%(0. 60+1. 979) *4. 597 m’ 5.93
RIPE (RiE) (4. 597%y (172+0.5°2) m” 5.14
AU (5HE) |4.597%/ (1°2+0.272) m” 4. 69
2L 4.597*y (172+0.5°2) Hm2 5. 14
[H=4.615m]  H=|4.615 m 4.615
B1=/0. 6 m 0. 600
B2=|0. 6+ (0. 5-0. 2) 4. 615 m 1. 985
27 J— bk 1/2%(0.60+1. 985)*4. 615 m’ 5. 96
IR (RiE) |4.615%¢ (172+0.5°2) n’ 5.16
AP (5HE) |4.615%( (1°2+0.272) m’ 4.71
2T 4. 615%/ (172+0.572) Hm2 5.16




3 BRI BE T 5 [1.0m¥%4 D]
B1=600
0% B L #
300%«300%10 ©
i
KigE/84 F
VP ¢ 65mm

HA Ha 5 L /NEF
[H=5. 657m] H=|5. 657 m 5. 657
B1=]0.6 m 0. 600
B2=10. 6+ (0. 5-0. 2) *5. 657 m 2.297
a7 U — R [1/2%(0. 60+2. 297) %5. 657 m 8.19
BIPe (BiE) |5, 657y (172+0.5°2) m’ 6. 32
HIPe (A51H) |5, 657y (172+0.27°2) m’ 5.77
jas—aN 5.657x/ (172+0.572) Hm2 6.32
[H=5. 878m] H=|5. 878 m 5. 878
B1=]0.6 m 0. 600
B2=10. 6+ (0. 5-0. 2) *5. 878 m 2.363
a7 — b1/2%(0. 60+2. 363) *5. 878 m 8.71
HIFe (BiEG) |5, 878%y (172+0.5°2) m’ 6. 57
Bipe (F5m) 5. 878%y (172+0.272) m’ 6. 00
2T 5.878%/ (172+0.572) Hm2 6.57
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4B B [1.0m¥%4 D]

k=1

1=45

% 0% H B o A%

2 300%300%10

T

Kigz 4 F
VP 65mm  \ N
B2
HH FIAE HAL INGT
[H=2.80m]  H=|2.80 m 2. 800

B1=|0. 45 m 0. 450

B2=|0. 45+ (0. 5-0. 3) %2. 800 m 1.010
27 Y — K |1/2%(0. 450+1. 010) *2. 800 m’ 2. 04
UM (RiE) (2. 800%y (172+0.5°2) m” 3.13
TP (i) (2. 800%y (172+0.372) n’ 2.92
25T 2.800%y (172+0.5°2) Hm2 3.13

[H=3.60m]  H=|3.60 m 3.600

B1=|0. 45 m 0. 450

B2=|0. 45+ (0. 5-0. 3)*3. 600 m 1. 170
27 Y — bk |1/2%(0. 450+1. 170) *3. 600 m’ 2. 92
UM (RiE) |3.600%y (172+0.5°2) m” 4. 02
M (A1) [3.600%y (172+0.372) m’ 3.76
2L 3.600%/ (172+0.5°2) Hm2 4. 02




675 BEGE [1.0m%4 9]
1=45
0% H BA AE #4
g 300%x300%10
?
N KiRERA4 T
VP ¢ 65mm
HH FIAE XA INGT
[H=3.10m]  H=|3.100 m 3.100
B1=|0. 45 m 0. 450
B2=10. 45+ (0. 5-0. 3) *3. 100 m 1. 070
27 Y — bk |1/2%(0. 45+1. 070) *3. 100 m’ 2. 36
UM (RiiE) |3, 100%y (172+0.5°2) m” 3.47
P (i) |3.100%y (172+0.372) n’ 3.24
25T 3.100%y (172+0.5°2) Hm2 3. 47
[H=4.597m]  H=|4.597 m 4. 597
B1=|0. 45 m 0. 450
B2=10. 45+ (0. 5-0. 3) *4. 597 m 1. 369
27 J— bk 1/2%(0. 45+1. 369) *4. 597 m’ 4.18
RIPE (RiE) (4. 597%y (172+0.5°2) m” 5.14
AU (5HE) |4.597%/ (1°2+0.372) m” 4. 80
2L 4.597*y (172+0.5°2) Hm2 5. 14
[H=4.615m]  H=|4.615 m 4.615
B1=|0. 45 m 0. 450
B2=0. 45+ (0. 5-0. 3) *4. 615 m 1. 373
27 J— bk 1/2%(0.45+1. 373) *4. 615 m’ 4.21
IR (RiE) |4.615%¢ (172+0.5°2) n’ 5.16
AU (5HE) |4.615%/ (1°2+0.372) m’ 4. 82
2T 4. 615%/ (172+0.572) Hm2 5.16




65 {HIBE G o [1.0m¥%4 D]
1=45
\
\
% HBFIER /
© 300%300%10
7
KikRENA4 T
VP ¢ 65mm
HA Ha 5 L /NEF
[H=5. 657m] H=|5. 657 m 5. 657
B1=]0. 45 m 0. 450
B2=10. 45+ (0. 5-0. 3) *5. 657 m 1.581
a7 U — [ [1/2%(0. 45+1. 581) %5. 657 m 5. 74
BIPe (BiE) |5, 657y (172+0.5°2) m’ 6. 32
HIPe (A5iH) |5, 657y (172+0.372) m’ 5.91
jas—aN 5.657x/ (172+0.572) Hm2 6.32
[H=5. 878m] H=|5. 878 m 5. 878
B1=|0. 45 m 0. 450
B2=10. 45+ (0. 5-0. 3) *5. 878 m 1. 626
a7 — b|1/2%(0. 45+1. 626) *5. 878 m 6. 10
HIFe (BiEG) |5, 878%y (172+0.5°2) m’ 6. 57
Bipe (F5m) 5. 878+ (172+0.372) m’ 6.14
2T 5.878%/ (172+0.572) Hm2 6.57




#m 21l H ¥ k=2 7t " = BALT 7N i & g

JERR T cr a7 ks NO. 1+10. 700~N0. 2+0. 111 m 9. 400
BRI TIEAZE= L s ) m? 41.5
Tl |F7=A—Z—KfELY m? 38.5

a7 Y—hk |18-5-40 1/2%(41. 5+38. 5) *0. 3 m> 12. 000
H Hi #% EHE t=10mm 12%1/10 m? 1.2
9. 71*0. 300%1. 118+9. 71*0. 300%1. 118 m?> 6.5

m?> 7.7

(FHEE) 1:0.5  «=1.11803

D7 v 7 i NO. 2+0. 111~NO. 2+4. 167 m 4.100
L | T2 A= —RKELY m? 31.9
T | FT7=A—F—RFELY m? 24.7

a7 U—hk |18-5-40 1/2%(31.9+24. 7) %1/2% (0. 30+1. 111) m® 19. 966
H Hi #f JEHE t=10mm 19. 966%1/10 m? 2.0
4.19%0. 300%1. 118+4. 19%0. 300%1. 118 m?> 2.8

m? 4.8

(e 1:0.5  «=1.11803




#m B H ¥ k=2 g B = =<Ky /N # a g
1 5H T
a7 J— K |18-5-40 (1/2%(11. 26+5. 50) *4. 80—1/2% (4. 80+2. 00) *2. 80) *0. 70 m’ 21.5
I SR R A (1/2%(11. 26+5. 50) *4. 80—1/2% (4. 80+2. 00) *2. 80) *2 m 61.4
KB L [2. 80%0. 70%1. 118%2 m 4.4
aFt 65. 8
2% L xRy —7 JER 132/1. 80 m 17.8
CeH b TRz i)
TR A |1/2%(2.950+3. 210)*2. 6 m? 8.0
s |1/2%(2.950+3. 210) *2. 6 m’ 8.0
R A |1/2%(2.950+3. 210)%2. 6 m? 8.0
s |1/2%(2.950+3. 210) *2. 6 m’ 8.0
ARt o 32.0
3L
B Hikt T t=10mm ¥R 11/2% (4. 30+5. 85) %3. 10-1/2% (4. 80+2. 00) *2. 80 m’ 6.2
T | 1/2%(3. 375+5. 70) %3. 10-1/2% (4. 80+2. 00) *2. 80 m
EF ol 6.2

K UEEAECL:0.5 Akl 11803
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B th#t RIFT Bite#
EFEH EEE
N4
11 260 11 260 10 060 10 060
3 230 4,800 3230 3230 4800 3230 2 930 4 800 2 330 2 930 4 800 2 330
820 1400, 2000 1400
5 300 5 5 700
5 300
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24 B o &
AN ¢
(jl:/%\%/]lj) (I}/\“/T;iz) ($ gﬁI//\“/I/}E?BIJ) (ﬂ/. Iﬂi/\“/liu) (il.hi/\“/jf) A % i 1
WL R
Wi+ T
(==l
B L + w m 256
V)= MEEE T
275 | LI Rl BB
27 J—h 18-5-40 m’ 22
A e A S ) m’ 35
K E N VP ¢ 65mm m 7
W% LRSI 44 300%300%30 m 1
AT JEH'E t=10mm m’ 8
28T BRI Fibm® 18




Kz + & #F H #
- . E‘E ;EE ?é ;‘% _— HEL « Rt —_— _— — _— —_—
W e i ¥ & W e i ¥y B & LA s oy &
R -
R -
R - 23.70 3.0
R - 21.80 1. 900m 3.0 3.00 5.7
R - 9.80 12. 000m 4.7 3.85 46. 2
R - 8.80 1. 000m 3.5 4.10 4.1
R - 5.80 3.000m 13.0 8.25 24.8
R - 3.00 2. 800m 1.4 7.20 20. 2
CL 3.000m 1.4 1. 40 4.2
L - 3.00 3.000m 1.4 1. 40 4.2
L - 5.80 2. 800m 13.0 7.20 20. 2
L - 7.60 1. 800m 11.6 12. 30 22. 1
L - 10.80 3.200m 10. 7 11.15 35.7
L - 20.80 10. 000m 2.7 6. 70 67. 0
L - 21.30 0. 500m 2.7 2.70 1.4
L -
L -
= 45. 000m 255. 8m3




275 VLI e RE

Al bl H ¥ it i B = AL /I H & i
2 L HERE (1,04 D)
oy J—h 18-5-40 1/2%6. 75%3. 00 m 10.13
TR - o 6. 75%0. 50 3 5 33
1/2%6. 75%2. 50 m 8. 44 22.0
CA R 5 i) 1/2%5. 59%3. 00 m’ 8. 39
vy == 5. 59%0. 50 2 9 80
1/2%5. 59%2. 50 m’ 6.99 18.2
i 1/2%5. 10%3. 00 m’ 7.65
TR - A 5. 10%0. 50 2 9 55
1/2%5. 10%2. 50 m’ 6.38 16. 6
K& N4 |VP ¢ 65mm a7 V—bEELY
22. 0%1/3 m 7.3
W H LEBSIE#F |300%300%30 BFe (EAfEEY  im) BELY
16. 6%1/3%0. 30%0. 30 mZ 0.5
H#h T %5 t=10mm arv 7 ) — b MEELY m’ 7.6
25T HEEARLEY 1/2%5. 59%3. 00 m’ 8. 39
B 1 ey == 5. 59%0. 50 2 9 80
1/2%5. 59%2. 50 m’ 6.99 18.2




25 1L BE HiERE [1.0m24 v ]
B1=600
Ve Za
_ % B L 5 IE &4
300x300%30
KiRE=/NA4 F
VP @ 65mm
B2
XKIEEINA TIE2~3mIC1ERET S.
HA Ha 5 LT /NEF
[H=5. 00m] H= m 5. 000
Bl=| 0.60 m 0. 600
B2=| 0. 60+ (0. 5-0. 2) *5. 000 m 2. 100
a7 Y — k| 1/2%(0. 60+2. 100) *5. 000 m 6.75
BIFe (&) | 5. 000%y (172+0.572) m’ 5.59
HIF () | 5. 000%y (172+0.27°2) m’ 5.10
H#h T 1/2% (0. 60+2. 100) *5. 000%y (1°2+0.5°2) m’ 7.55
BT 5.000%y (1°2+0.572) Him2 5.59




